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V1 - Since the early 1980s, a number of countries in East Asia and Southeast Asia have
implemented political reforms, which have changed politics and regime types in these
countries. Please identify three countries that you know in this part of the world and
analyze the changes and progress of political development in these countries. You are
welcome to answer this question in English, but you also have the legitimate rights to

answer this question in Chinese. (25 %)
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. Consider the exponential utiliy i"u11ct-i()_1_]_ﬁ_é_x_;(_—-pc) . Show that it is increasing {u' > 0)

and concave
(u" < 0) for all ¢ as long as p > 0, that is, as long as the agent is risk-averse. Show that this function
has constant absolute risk aversion coefficient ry given by p. {(10points)

. ™ . I=p e s .
2. Consider the power utiliy function ‘iﬂp for p # 1. Show that it is increasing (v’ > )} and concave

(' < 0) for all ¢ > 0 as long as p > 0. Show that this function has constant relative risk aversion
coefficient r5 given by p. {10 points)

3. Counsider the log utility function In (). Show that it is increasing (u' > 0) and concave (u” < 0) for all

¢ > 0. Show that this function has constant relative risk aversion coefficient r r equal to 1. (in fact, it

: o - ) s
18 possibile to show limg .,y ezl

=5 = In (c) ~ you are not required to prove this) (10.points).

4. Consider the following maximization problem:
max flz;z0) = exp(~ (z — zp)?)

As a comparative statics exercise, compute the change in z* as z, varies. In other words, compute .
dz* fdxy. {1opoints) '

5. We are interested in how the value function f {z*(x); 2o) varies as xy varies, We do it two ways.
First, plug in @*(xp} from point 2 and then take the derivative with respect to wp. Second, use
the envelope theorem. You should get the same result! 10 points)

6. Suppose that the oil industry in Utopia is perfectly competitive and that all firms

draw oil form a single (and practically inexhaustible) pool. Each competitor believes

that he or she can sell all the oil he or she can produce at a stable world price of $10
per barrel and that the cost of operating a well for one year is $1000. Total output per
year (Q) of the oil ficld is a fuﬁc-tion of the number of wells (N} operating in the field.

In particular, | _ .

And the amount of oil produced by each well (q) is given by

q “‘j% = 500-N

The output from the Nth well is given by
MPy = 500-2N

a. Describe the equilibrium output and the equilibrium number of wells in this
perfectly competitive case. Is there a divergence between private and social
marginal cost in the industry?

b. Suppose that the government nationalizes the oil field. How many oil wells should
it operate? What will total output be? What will the output per well be?

¢. As an alternative to nationalization, the Utopian government is considering an
annual license fee per well to discourage overdrilling. How large should this license

fee be to prompt the industry to driit the optimal number of wells?(25 %)

7. Suppose the demand for tickets to the symphony for adults is Pa=100-2q, and the

demand for children is Pc=50-2qc.

a. What is the profit-maximizing pricing policy for the symphony?

b. How many adults and children attend the concert?

c. I[f price discrimination were illegal and the symphony had to charge the same ticket
price to adults and children, what would be the price of a ticket? How many adults
and children would attend the concert?

d. Which policy results in greater social welfare? (25 %)
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